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A man travels from P to Q at the speed of 60 km/h and travels from Q to P at the speed of 90 km/h. 
What is the average speed of the man for the whole journey?
एकव्यक्ति P से Q तक 60 ककमी/घंटा की गकत से यात्रा करता हैऔर Q से P तक 90 ककमी/घंटा की
गकत से यात्रा करता है। पूरी यात्रा में आदमी कीऔसत गकतक्या है?

1)75 km/h
2)78 km/h
3)70 km/h
4)72 km/h



A bag contains one rupee, 50 paise and 25 paise coins in the proportion 5 : 7 : 9.Ifthe total amount 
in the bag is ₹430, then how many 25 paise coins are there?
एक बैग में 5 : 7 : 9 के अनुपात में एक रुपये, 50 पैसेऔर 25 पैसे के कसके्क हैं। यकद बैग में कुल राकि
₹430 है, तो 25 पैसे के ककतने कसके्क हैं?

1)400
2)360
3)380
4)340



A is more efficient than B and they together can complete a work in 24 days. Had A done 50% of 
the work and then B, the remaining work, then the work would have been done in 50 days. B 
alone will complete 40% of the same work in?
A, B से अकिक कुिल हैऔर वे कमलकर एककायय को 24 कदनो ं में पूरा कर सकते हैं। यकद A ने
50% कायय ककया होताऔर किर B, िेष कायय करता, तो कायय 50 कदनो ं में पूरा हो जाता। B अकेले
उसी कायय का 40% पूरा करेगा?

1)16
2)24
3)21
4)20



Train crosses two platforms of length 1000 m and 600 m in 80 seconds and 60 seconds respectively. 
What is the length of the train?
टर ेन 1000 मीटरऔर 600 मीटर लंबाई वाले दो पे्लटिॉमय को क्रमि: 80 सेकंडऔर 60 सेकंड में पार
करती है. टर ेन की लंबाई ककतनी है?

1)720 m
2) 600 m
3) 540 m
4) 400 m



A sum of ₹800 invested on simple interest becomes ₹1200 in 8 years. What will be simple interest 
for 6 years on the sum at the same rate of interest?
सािारणब्याज पर कनवेिकी गई ₹800 की राकि 8 वषों में ₹1200 हो जाती है। राकि पर समानब्याज
दर पर 6 वषय के कलए सािारणब्याज ककतना होगा?

1) ₹240
2) ₹210
3) ₹250
4) ₹300



What is the area of the largest circle which can be inscribed in a square of side 28 cm?
सबसे बडे वृत्त का के्षत्रिलक्या है कजसे 28 सेमी भुजा वाले वगय में अंककत ककया जा सकता है?

1) 308 cm2
2) 616 cm2
3) 476 cm2
4) 512 cm2



Marked price and cost price of an article are in ratio 5:4. If the profit earned by selling the article 
is12.5%, then what is the discount percentage?
एक वसु्तका अंककत मूल्यऔरलागत मूल्य 5:4 के अनुपात में है। यकद वसु्तको बेचकरअकजयत लाभ
12.5% है, तो छूट प्रकतितक्या है?

1) 12.5
2) 15
3) 8
4) 10



A train leaves P at 9 am with speed of 30 km/h. Another train leaves Q at 11 am with speed of 45 km/h. The 
trains are travelling towards each other on parallel tracks. Distance between P and Q is 300km. When they 
meet, what is the ratio of the distances covered by them?
एक टर ेन सुबह 9 बजे 30 ककमी/घंटा की गकत से P से कनकलती है। एकअन्यटर ेन Q से सुबह 11 बजे 45 
ककमी/घंटा की गकत से कनकलती है। टर ेनें समानांतर पटररयो ं पर एक दूसरे कीओर यात्रा कर रही हैं। P और Q 
के बीच की दूरी 300 ककमी है। जब वे कमलते हैं, तो उनके द्वारा तयकी गई दूररयो ंका अनुपातक्या है?

1) 8 : 5
2) 13 : 12
3) 17 : 14
4) 11 : 9



The ratio of milk and water in a mixture is 4 : 3.If we add 2 litre of water, the ratio of milk and water 
becomes 8 : 7. What is the quantity of the final mixture?
एक कमश्रण में दूिऔर पानी का अनुपात 4:3 है। यकद हम 2 लीटर पानी कमला दें, तो दूिऔर पानी का
अनुपात 8:7 हो जाता है। अंकतम कमश्रणकी मात्राक्या है?

1)18 litres
2)30 litres
3)24 litres
4)28 litres



The average age of 12 boys is 15 years and the average age of 18 girls is 12 years. What is the 
combined average age of the boys and girls, taken together?
12 लडकोंकीऔसतआयु 15 वषय है और 18 लडककयो ंकीऔसतआयु 12 वषय है। लडकोंऔर
लडककयो ंकी संयुिऔसतआयुको एकसाथ कलया जाए तोक्या है?

1) 15.4
2) 13.2
3) 16.6
4) 14.8



An article is sold for ₹6500 so as to earn a profit of 4%. A second article whose cost price is ₹3750,is sold at a 
loss of 4%. What is the overall gain or loss percent in the whole transaction?
एक वसु्त को 4% का लाभ अकजयत करने के कलए ₹6500 में बेचा जाता है। एक दूसरी वसु्त कजसका क्रय मूल्य
₹3750 है, को 4% की हाकन पर बेचा जाता है। पूरे लेनदेन में कुल लाभ या हाकन प्रकतितक्या है?

1)Gain4%
2)Loss 1%
3)Loss 4%
4)Gain1%



A sum invested at compound interest(compounded annual) amounts to ₹ 750 at the end of first 
year and ₹ 900 at the end of second year. What is the sum?
चक्रवृक्तिब्याज (चक्रवृक्ति वाकषयक) पर कनवेिकी गई राकि पहले वषय के अंत में ₹ 750 और दूसरे वषय के
अंत में ₹ 900 हो जाती है। राकिक्या है?

1)₹700
2)₹ 625
3)₹ 600
4)₹ 650



Alok starts walking from P with speed of 6 km/h towards Q. Raman starts at same time from P towards Q 
with speed of 9km/h. Raman reaches Q, turns back and starts walking towards P. He meets Alok at R. If PQ is 
15 km, then what is PR ?
आलोक P से Q कीओर 6 ककमी/घंटा की गकत से चलना िुरूकरता है। रमन समान समय पर P से Qकीओर 9 
ककमी/घंटा की गकत से चलना िुरूकरता है। रमन Q तक पहंचता है, वापस मुडता हैऔर P कीओर चलना
िुरूकरता है। वह R परआलोक से कमलता है। यकद PQ 15 ककमी है, तो PR क्या है?

1)20 km
2)12 km
3)15 km
4)18 km



The ratio of monthly incomes of Pawan and Sunil is 4 : 3 and the ratio of their monthly expenditures is 3 : 2. If 
Pawan and Sunil save ₹ 4000 and ₹ 6000 respectively per month, then what is the sum of their monthly 
incomes?
पवनऔर सुनील की माकसकआयका अनुपात 4 : 3 है और उनके माकसकव्ययका अनुपात 3 : 2 है। यकद पवन
और सुनील क्रमिः ₹ 4000 और ₹ 6000 प्रकत माह बचाते हैं, तो उनकी माकसकआयका योगक्या है?

1)₹60000
2)₹70000
3)₹50000
4)₹36000



The average of 13 numbers is 42. If a 14th number is included, then the average becomes 44. What 
is the 14th number?
13 संख्याओंकाऔसत 42 है। यकद 14वी ं संख्या को िाकमलकर कलया जाए, तोऔसत 44 हो जाता है।
14वी ं संख्याक्या है?

1)70
2)62
3)66
4)68



Two teachers A and B can complete an academic work in 10 days and 15 days respectively. They started the 
work together, but A left after 5 days and another teacher C joined, who alone can complete the work in 60 
days. In how many days the work got completed?
दो किक्षक A और B एक िैक्षकणककायय को क्रमिः 10 कदनऔर 15 कदन में पूरा कर सकते हैं। उन्ोनें एकसाथ
काम िुरू ककया, लेककन ए 5 कदनो ं के बाद छोड देता है और दूसरा किक्षकसी िाकमल हो जाता है, जो अकेले
60 कदनो ं में काम पूरा कर सकता है। कायय ककतने कदनो ं में पूरा हआ?

1)7
2)5
3)6
4)2



When a rectangle is divided into three equal parts, each of them turns out to be a square of area 
16. What is the perimeter (in cm) of the rectangle?
जब एकआयतको तीन बराबर भागो ं में कवभाकजत ककया जाता है, तो उनमें से प्रते्यक 16 के्षत्रिलका
एक वगय बन जाता है।आयतका पररमाप (से.मी. में) क्या है?

1)64
2)16
3)32
4)48



Two inlet pipes can separately fill a cistern completely in 8 hours and 10 hours respectively. They are 
operated for 2 hours, after which the second pipe is closed, and an outlet pipe which can drain out water 
from the full cistern in 20 hours is opened. How much time will it take to fill the cistern completely from the 
instant of opening the outlet pipe?
दो इनलेट पाइप अलग-अलग एक टंकी को क्रमिः 8 घंटे और 10 घंटे में पूरी तरह से भर सकते हैं। उन्ें 2 घंटे
के कलए संचाकलत ककया जाता है, कजसके बाद दूसरा पाइप बंद कर कदया जाता है, और एकआउटलेट पाइप जो
पूरे टैंक से 20 घंटे में पानी कनकाल सकता है, खोला जाता है।आउटलेट पाइपखोलने के तुरंत बाद टंकी को
पूरी तरह से भरने में ककतना समय लगेगा?

1) 7 hours
2) 8 hours
3) 7 hours 20 minutes
4) 8 hours 40 minutes



An article, whose list price was ₹720, was subject to two successive discounts of 20% and 10%. 
What is the amount (in ₹) of discount that a customer would get while purchasing the article?
एक वसु्त, कजसका सूची मूल्य ₹720 था, 20% और 10% की दो क्रकमक छूटो ं के अिीन थी। वसु्त को
खरीदते समय ग्राहकको कमलने वाली छूट की राकि (₹ में) क्या है?

1)198
2)190.8
3)201.6
4)216


